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1)
Sekilde m(GAR)=20°,
m(ARH)=34°,

m(BHR):14° ,
m(BOA)=24° ise
m(HBO)=x
2) K,L,M bulundugu
kenarlarin orta
noktalari
[TL|=4 br

IKT|=3 br, |AT|=8 br
olduguna gore
IMA|+|KC|+|BL| kagtir?

A
L
B
M
C

3)

Kz X SP y
ds, dz,ds paralel
dogrulardir.
ILD|=2br , L/ 2 R, 4
IRD|=3br, D 3 T2
IMS|=12br
ise |KP|:X M S, d
kactir? / 12 \' 8
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MRK bir ¢gen .

kac derecedir?

BASARI DILEKLERIMIZLE...

4)

[NP]L[RK], [PK|[=RP| ,
|NR|/:_|I\1K|
m(RKM)=48°

veriliyor. Buna gore
m(KRM)=x

5) ABC lggeninde
A~ 0 ~ A
m(ABC) =45 m(ACB) =
30° ve |AB| =6 br
olduguna gore, 6
|AC| = x kag br dir?
450 30°
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6)

7)

8)

.
ABC de A

L,K,D
bulundugu
kenarlarin
orta
noktalaridir.
AF,R,D

dogrusal
noktalardir.
[AD] N
[LK]={F}. |AF|=2x—3 br, |RD|=x+1 br ise
|AD| kag birimdir?

B D

Sekilde

ABC dik

ucgen, E
BC L ED

dir.

veriliyor.

8 D

|ED|=4 br, |EB|=5 br, |AC|=8 br
olduguna gore, |DC|—|EA|="?

Sekilde ABC K
bir Gggen, AB A
KAC agisinin

aglortayi

IBC|=12 br,

|AC|=6 br,

|AD|=8 br

olduguna gore,

—
—

|CD| kag
birimdir?
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9) Sekilde ABC

tggen, [BE] ve [CE]
aclortaylar ve
m(A)=2.m(E)-36
olduguna gére
m(E)=?

10) Sekilde ABC tggen B

6.m(ABE)=3.(BAC)=4.m(ECA) ve
m(BEC)=135° ise m(ECA)=?
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